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Solution
Product Lifecycle
The new product must launch in month 14 for the combined sales to be above $300,000. Therefore, the project must start in month 5. If the development project was delayed by one month, the sales in months 17 and 18 would drop to $260,000
If the new product starts in month 5 and launches in month 14, the profit drops to only $7,600 in month 16.
See the table below for the illustration.
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Current Product

Sales
$10,000
$20,000
$30,000
$85,000

$150,000

$250,000
$300,000
$325,000
$340,000
$345,000
$340,000
$335,000
$330,000
$325,000
$315,000
$285,000
$230,000
$175,000
$110,000

$50,000

Profit
-$4,000
-$1,000

$500
$21,000
$47,500
$62,000
$84,000
$84,000
$81,000
$65,000
$55,000
$45,000
$35,000
$25,000
$15,000
$7,100
$5,400
$3,200
$250
-$3,000

New Product
Sales Profit
$10,000 -$4,000
$20,000 -$1,000
$30,000 $500
$85,000 $21,000
$150,000 $47,500
$250,000 $62,000
$300,000 $84,000
$325,000 $84,000
$340,000 $81,000
$345,000 $65,000
$340,000 $55,000
$335,000 $45,000
$330,000 $35,000
$325,000 $25,000
$315,000 $15,000
$290,000 $7,100
$230,000 $5,400
$175,000 $3,200
$110,000 $250
$50,000 -$3,000

Combined Products
sales Profit
$10,000 -$4,000
$20,000 -$1,000
$30,000 $500
$85,000  $21,000
$150,000  $47,500
$250,000  $62,000
$300,000  $84,000
$325,000  $84,000
$340,000  $81,000
$345000  $65,000
$340,000 $55,000
$335,000  $45,000
$330,000  $35,000
$335,000  $21,000
$335,000  $14,000
$315,000 $7,600
$315000  $26,400
$325,000  $50,700
$360,000  $62,250
$350,000  $81,000
$325,000  $84,000
$340,000  $81,000
$345,000  $65,000
$340,000  $55,000
$335,000 $45,000
$330,000  $35,000
$325,000  $25,000
$315000  $15,000
$290,000 $7,100
$230,000 $5,400
$175,000 $3,200
$110,000 $250
$50,000 -$3,000
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